HEAYHInGAER

(E3¢)

(TIGEREES)
T4 11H18H(SEH) H O FOR K X &
fh EHL | AFE| BE FE ZiE &R zz B s A | AWER| &E PE LAl &H 22 DL
=ik | 14.0 | 1,404 A 324 |10 k| 10k | BE Yy HifF | 0.1 216 ~ 108 (o1 « RE
KR
AB
K| 6.0 | 1,612 | 972 756 |10 k| @h | RE
nE B | 09 [ 1,620 ~ 432 |20 E| ®h | Re
SRVAIT A HiF [ 01 864 648 216 | 1 k| @mh | ARV
— =% | 0.2 | 1,512 7 540 | 4 k| ®mh | R& H# =il | 1.7 | 1,188 ~ 324 |5 « ReE
bt
HiiF | 3.0 | 864 ~ 648 |15 k| Fh | BES JeEE | 2.0 | 1,620 ~ 864 |10 k| Fh | BRE
SE3
fEA | 5.0 | 1,296 ~ 540 |15 k| #h | BRE | A—2Av
HiK | 10.0 | 1,080 e 648 |10 k| #h | BRE JemE | 2.0 | 1,620 = 864 |10 k| Fh | BRE
Fp Y
- A% | =k | 05 | 1,296 a3 1,080 | 10 & D
K4y | 05 | 1,296 | ~ 1,080 | 10 k | &h | BRE ELRZ| HEE | 0.1 | 2,160 ~ 1,080 | 5 BE
TYV—rR—)v
=i | 0.3 | 2,646 ~ 1,296 | 4 k| 20% | BES
HLHE
— E#H fe¥gE | 7.0 | 2,700 | ~ | 1,728 [ 20 k| @h | BRE
REA | 03 | 1,188 i 972 | 3 k| @®h | &%
wh =i | 0.4 | 1,620 ~ 864 | 3 k| 20m | ®E
HE =1 ~ 540 ~ |2 % - =i | 1.0 | 432 A 216 | 1 «
. =i | 05 | 4,104 ~ 1,620 | 5 k| #h | Re
B | 1.0 }
_ - 20 184 140 108 | o1 k
HifF | 0.1 ~ 1,620 ~ 12 E| #h
e B | 3.0 30
] % ~ ~ 0.1 k
ROEE o
INGR 34.5 | 1,080 ~ 648 RE - # Bk | 03 | 1,944 | 1,620 | 864 | 3 k| @h |FHFS
S Er | EE | 0.1 ~ 648 ~ 5k B
AyF—= EiEF | 0.4 594 432 216 | 2 k| @h | BRE
e g | 15 | 1,512 ~ 1,080 | 5 | ®h | BRE
720 =1 1,296 i 1,080 0% | ®RE
B | 0.2 | 2,700 ~ 1,080 | 4 « ReE
b=k E-3 ) B IR 1,080 o~ 972 10R | RE
ISR =1 648 = 540 0 | BE
Sl =igF | 1.0 |- 151 108 86 |02 k| #h | ®& P S 3 =1 756 ~~ 324 R | RE
N 154 | 2,808 | ~ | 1,944 |10 k B
B =13
RS 0.1 ~ 2,160 | ~ |10 #/u
R —vv E# | 01 |12,960| ~ | 3,240 [ 10 gRe FD1th,
wmy | 310 t | BAME | 1443 t




